Soustraction Avec Des Zéros (F)

1000
- 892

1000
- 477

1000
- 450

1000
- 249

1000
- 593

1000
-78

1000
- 402

Calculez la différence.

1000 1000
- 443 -736
1000 1000

- 36 -73
1000 1000

-19 - 200
1000 1000
- 833 - 533
1000 1000
-702 - 261
1000 1000
- 839 -733
1000 1000
-779 -459

1000
-170

1000
- 326

1000
- 357

1000
- 807

1000
- 513

1000
-463

1000
- 792
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Soustraction Avec Des Zéros (F) Réponses

1000
- 892

- 443

108

1000
- 477

523

1000
- 450

964

550

1000
- 249

981

- 833

751

1000
- 593

-702

407

1000
-78

- 839

922

1000
- 402

-779

598

Calculez la différence.

1000
-170

830

1000
- 326

674

1000
- 357

643

1000
- 807

193

1000
- 513

487

1000
-463

1000 1000
-736

557 264
1000 1000
- 36 -73
927

1000 1000
-19 - 200
800

1000 1000
- 533

167 467
1000 1000
- 261

298 739
1000 1000
-733

161 267
1000 1000
-459

221 541

537

1000
- 792

208
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